
12 12

elmanX Co. has the following data.

Production               1,000 units                                       2,000 units

Cost                            $3,000                                              $4,000

Assume that variable cost is decreased by $0.5 for every unit as the
production is increased by 1,000 units.

 Calculate the cost of producing 3,000 units.

$ ________

4000| 4000 Correct

13 13

Considering a long time period consisted of 5 or more years, forecasting
show fluctuations due to boom and decline stages. What are these
fluctuations called?

Cyclical Variation| Cyclical Variation Correct

14 14

Pip Co. had sales of $180,000 in Quarter 1 of year 20X1. It has as increasing
trend in sales of $5,000 per quarter. Calculate the forecasted sales for
Quarter 3 of year 20X4.

250000| 250000 Correct

15 15

Following is the data of Sheikhani Plc. which manufactures Product “SIR”.

  20X1 20X2 20x3

Material Price Qty Price Qty Price Qty

1 $2.00 1kg $2.50 2kg $3.00 3kg

2 $3.00 2kg $3.20 3kg $3.50 1kg

3 $4.00 3kg $4.50 1kg $5.00 2kg

 

Calculate quantity index (Paasche).____%

90| 105 InCorrect
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24 24

By looking at following data calculate the correlation coefficient.

X                                  Y

1                                  5         

2                                  10

3                                  15

4                                  20

5                                  25

 

+1| +1 Correct

25 25

Negative correlation means that low values of one variable are associated
with high values of the other and high values of one variable with high
values of other.

false| false Correct

26 26

Hetal Co. has the following data.

Production               1,000 units                                       2,000 units

Cost                            $3,000                                              $6,000

Assume that fixed cost is increased by $1,000 as the production is
increased by 1,000 units.

Calculate the fixed cost incurred in producing first 1,000 units.

$ ________

1000| 1000 Correct

27 27

Ammanda Ltd. has forecasted sales of $500,000 for Quarter 3 of year 20X5.

It has increasing trend of $5,000 per quarter. Sales in 2  quarter of year
20X2 were $400,000. Calculate seasonal variation for quarter 3 assuming
that Ammanda Ltd. uses additive model of seasonal variation.

35000| 55000 InCorrect
nd
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